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General Instructions:

1. Please read the instructions carefully

2. This Question Paper is divided into 03 sections, viz., Section A, Section B and Section C.

3. Section A is of 05 marks and has 06 questions on Employability Skills.

4. Section B is of 25 marks and has 30 questions on Subject specific Skills.

5. Section Cis of 05 marks and has 07 Competency based questions.

6. Do as per the instructions given in the respective sections.

7. Marks allotted are mentioned against each section/question.

8. All questions must be attempted in the correct order

SECTION A

Answer any 5 questions out of the given 6 questions on Employability Skills (1 x 5 =5 marks)

1. | Answer- a. positive thinker
2. | Answer- b. Filtering
3. Answer-c. Extraversion
4. Answer- a. Active voice
5. Answer-d. Contact, absorb, reflective feedback and confirm
6. Answer- a. Ctrl + O
SECTION B
Answer any 25 questions out of the given 30 questions (1 x 25 = 25 marks)
7. Answer- d. Block
8. Answer- a. Palla
9. Answer- b. Dart intake
10. Answer- b. Johan Tobias Mayer
11. Answer- d. Sh
12. Answer- a. 1960
13. Answer- b. Seam ripper
14, Answer- b. Ajanta Paintings
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15. Answer- c. Draping method

16. Answer- c. Anthropologists
17. Answer- a. Ease
18. Answer- c. Knits
19. Answer- d. ease allowance

20. Answer- a. Strength and Vigour

21. Answer- a. % inch

22. Answer- a. Fibula

23. Answer- a. Neeta Lulla

24, Answer- b. 2 inches

25. Answer- b. In sleeveless bodice armhole level goes up by % inch
26. Answer — a. Kichepo women

27. Answer- a. garment is tight in the hip or abdomen area

28. Answer- a. status and tribal identification

29. Answer- c. L-square

30. Answer- Neckline Edge

31. Answer- c. % inch
32. Answer- c. The seams, darts and other seam lines are clearly visible on it.
33. Answer- a. Sumerian costume
34. Answer- a. system for apparel for a country is based ideally on the body measurements taken
from a cross section of the population.
35. Answer- a. Chintz
36. Answer- a. Parallel
SECTION C
COMPETENCY BASED QUESTIONS
Answer any 5 questions out of the given 7 questions (1 x 5 =5 marks)

During industrial revolution a chain of inventions of machines changed the situation completely. This one
particular machine brought the principle of assembly-line production which led eventually to mass
production and standardization of sizes.

37. Answer- a. Domestic Sewing Machine

38. Answer -c. Isaac Singer

39. Answer —c. Readymade clothing industry

40. Answer- b. 1851

41 Answer- a. people feared that machines which could do the work of several men would result
in unemployment.

42, Answer- b. people’s home

43, Answer-d. separating cottonseed from short staple cotton fibre.
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